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R ma | BT e | B2 | e | o e | B2 | BT e | B2 | TR | & |
1 100kN/m##8% % 1.00{ 0.00 ~ 0.83 112.42| 3m%x#B2 5 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 12.79 ~ 15.76 112.42| 3m%x#B25 =l ~ - - =
s 1.00{0.83 ~ 8.62 100.00f Z=hki4t |0.00 ~ 8.62| 2.77 14.80 s 1.00f 500 ~ 12.79 100.00f Z=hkl4t+ | 5.00 ~ 1576 2.77 14.80
9 100kN/m##8 %% 1.00{ 0.00 ~ 0.27 103.90| 3m%*x#8 25 ol ~ = = —| 100kN/mM%#8Z % 1.00{ 13.11 ~ 14.00 103.90| 3m%x#B 25 =l ~ - - =
s 1.00{0.27 ~ 8.05 100.00f Z=hki4t |0.00 ~ 8.05| 257 13.75 s 1.00f 500 ~ 13.11 100.00f Zhkl4t+ | 5.00 ~ 14.00f 2.57 13.75
3 100kN/m##8 %% 1.00{0.00 ~ 1.26 119.09| 3m%*x#B 25 ol ~ = = —| 100kN/mM%#2Z % 1.00{ 12.27 ~ 16.87 119.09| 3m%x#B 25 =l ~ - - =
s 1.00{1.26 ~ 9.05 100.00f Zhklst |0.00 ~ 9.05| 2.72 14.54 s 1.00f 500 ~ 12.27 100.00f Zhl4t | 5.00 ~ 16.87| 2.72 14.54
4 100kN/m##8 %% 1.00{0.00 ~ 1.74 126.72| 3m%x#B2 5% ol ~ = = —| 100kN/mM%#2Z % 1.00{ 11.10 ~ 17.23 126.72| 3m%x#B 25 =l ~ - - =
s 1.00{1.74 ~ 953 100.00f Z=hkl4t | 0.00 ~ 9.53] 257 13.74 s 1.00f 500 ~ 11.10 100.00f Z=hl4t+ | 5.00 ~ 17.23| 2.57 13.74
5 100kN/m##8 %% 1.00{ 0.00 ~ 0.99 114.94|3m%x#B2 5 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 10.72 ~ 14.00 114.94| 3m%#B25 =l ~ - - =
s 1.00{ 099 ~ 8.78 100.00f Z=hkl9t+ |0.00 ~ 8.78] 2.10 11.22 s 1.00f 5.00 ~ 10.72 100.00f Zhl4t | 5.00 ~ 14.00f 2.10 11.22
6 100kN/m##8 %% 1.00{0.00 ~ 1.79 127.55|3m%*x#B2 5% ol ~ = = —| 100kN/mM%#2Z % 1.00{ 11.02 ~ 17.35 127.55|3m%x{B 25 =l ~ - - =
s 1.00{1.79 ~ 9,58 100.00f Zhklst |0.00 ~ 9.58| 2.55 13.66 s 1.00f 500 ~ 11.02 100.00f Zhl4t+ | 5.00 ~ 17.35| 2.55 13.66
7 100kN/mM%#BZ 5 -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = FhLst = -~ = -| Zh st -~ = = =
8 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhiist -~ = = = st = -~ = -| Zh st -~ = = =
9 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhiist -~ = = = FhLst = -~ = -| Zh st -~ = = =
10 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ 5 -~ = = =
zh st -l -~ = -| Fhiist -~ = = = FhLst = -~ = -| Zh st -~ = = =
» 100kN/mM%#BZ 5 -l -~ = -|3mEBZ S -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Zh st -~ = = =
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ FhLst ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~ |
=EFR




